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8. If sm‘1 (x) + cot™ (—2') thenxrs equal to a) b) \/— ‘c) ‘/— dn) £
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a) cosx b) cotx c) tanx. d) long (smx)

= 2

o

If ‘5 and g are parallel vectors then [a c b] is Sequgilg. a) ~1 b)0 0)1 d)2 '
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PART - A Ry ' LN L G e
Answe;all the followmg : 3 : ; £ .- b 26 x1=20
3 . ) ‘ R o e vt 1=20;

IfA={, | then9l,—Als equal to a) -’-\5— b) A~ b) 2A- d) 3A-"

IfAT. A is symmetric, then A2 is equal to a) AT b) A" c) (A-')2 d) (AT)?
L : 1+z e s ‘
Ifglzl— 1 then the value of Tl a) , bz c)1 d) >

Z';zz;,arecomplexnumberssuchthatz +g+z3 Oand |z, = |z, = |z|—1then'
Zz+222+232 is a) 0 b)1 ©2d)3 .

' ' ‘—1 -1 '
Ifaand B are the roots of the equatlon x2 Bx + 7 0 then the quadratlc equatlon with roots e -is a) 7x2 + 6

B
*1=0 b)7x2—6x+1=0 ) Tx*—6x-1=0 d)7x2+6x—1=0 - -, Wi kS
The ‘number of real numbers in [0 21t] satlsfylng sm“x 23|n2x+1-0|s ety e
a)1 b)2 ¢)4 d) o ' L

1 2n T2 13
If cot“ (x) = =5 for some X € R then the value of tan-‘(x) is a) —;5- b) = c) d)

72

' The centre of the circle inscribed in a square formed by the lines x2 — 8x - 12 0 and :

y—14y+45 Ois a) (4, 7 b)(4 9) c)(7 4)- d)(9 4) :
The eccentricity of the elhpse 9x2 + 25y =225is a) o b) ) = d)" ‘+ ‘

AA'&A SRR SRS CA A A

The co- ordlantes ofthe pomtwhere the Ilne r—(Gl—J 3k)+t( |+4k) meetsthe plane r.(i+j- k) 3 are
a) (5, il 1)- b)(1, 2, —6) c) (7, - —7) d)(2 1, 0) :

Thetangenttothe curve y2 —xy+9 Ors vertlcal when a)y—— b)y 0 c)y +J_d)y +3

The maxumum value of the- functlon f(x) = sinx.+ cosx |s a) 2 b) JE c) J_ d)1.

The percentage error of fifth root of 31is approxrmately how many tlﬁles the percentage errorin 31?

a)5 b) 31 c)— d) %

,f(x y, 2) = xy+yz+zxthenf——f|sequalto: a)z xb)y zc)x z d)y x'

leldx is a) -—b)—c)— d)
~
_7;

-

-3x
e~3% x?2 dx e
I 2 a) 27 b) 27 )27 :
The solutron ofxdy+ydx OIS a) x2+y =k b) xy k c) Xzy Kk d) X2+y k
dy

If sinx is the mtegratmg factor of the linear dlfferentlal equatlon a; + py Q then Pis -

" PART-B' s R : REE
Answer any 7 of the followmg ‘Question No.30 is compulSory ShErY S 0y 7x 2= 1}4
Flnd the rankof 2 ";1' 3 4 '

./'
5 =17 1) -

Find the sum of the squares of the roots of the equatlon 2x“ 8x?3 ¥ 6x2 3= 0

Flndthevalueof’tan'1 TB ) e T e e G Rk s L e i S
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| 4(4) . (3
. Find the value of cos {sm 1(‘5“]—&“‘ 1(2)]
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36.
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42,

43.

45.

- 46. -
 from the centre on either sides. (OR)

47.

b) Evaluate I
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Find ;t‘he equation of the parabola whose vertex is (1, -2) and focus is (4, -2).

¢ - T e TS S S P~ SUNERNA Gt Qe
Forany vector  prove that x(ax i)+ jx(ax )+ kx(ex l:) = 22
Find the values in the interval (1, 2) of the mean value theorem satisfied by the function
f(x)=x=x* for1<x <2,

Find the linear approximation for the function h(x) = ;—% atx,=1.
j- dx
Evaluate . x2_4
Find the differential equation corresponding to the family of curves represented by the equatlon

y = Ae™ + Be™ where A, B are arbitrary constants.

f ozx1is complex cubic root of unity from a quadratic equation with roots 2w and 20
PART -C ‘
Answer any 7 of the following. Q.No0.40 is compulsory. ' 7x3=21
Solve : 2x + 5y = -2, x + 2y = —3 by using matrix inversion method. : Y
Find the square root of the complex number —5-12i

Solve the equation x3 —3x2—33x +35=0
i

Theline 3x + 4y — 12 = 0 meets the co-ordinatefaxes atA ahd B. Find the eduation of the circle drawn on AB as diameter.

Find the point of intersection of the etréight lines Y 2 258 and'x'—4#y"1=
s R 2 - 3 4 5 2 3
Lt0 1 1Y e R i W © A :
- X250 ———1| : 1

Evaluate : Sin%. x v ! ‘
IFU=1I 3 +y2 +2%) find @+6u+au 3¢

%g (¢ +y? 2) nd ooy B2
Solve —X+2y e (e T g

dx -
Evaluate Jlog( )dx
= PART D X
Answerallthefollowmgquestlons s e ) b 7x5=35

a) Test for consistency and solve by using rank method

X—y+2z= 2 2x+y+4z 75 4x ,y+z =4 (OR)_b)SoIve:(yz—.2xy),dx=(x?—~2xy)d_3/‘

‘ : . » ; —:1 t x+y Jigd x'6u+‘ iau;;lAta-l’.'lU
a) Find all cube roots of (ﬁ+|) (OR) b) If U = sin’ \/;+\/§ show that e YE =3

a) Solve the equation 6x* — 353 + 62x2 = 35x +6=0 (OR) ks i '
b) A conical water tank with vertext down of 12 meters height has a radius of 5 meters at the top. If water flows into the tank
at a rate 10 cubic m/min, how fast i is the depth of the water increases when the water i is 8 meters - deep?

x+1

. a) Solve : tan™ X*—1 +tan™ =2 (OR)
xX-2). X+2

b) Fmd the area of the region bounded by the line y = 2x + 5 and the parabola y = X2 = 2x.

a) Find the centre, vertlces foci and directrices of the ellipse 18x2 + 12y2 — 144x +48y +120=0

(OR)

b) By vector method, prove that cos (o + f3) = cosa, cosB - sina srnB

a)Abridge hasa parabolic arch that is 10m high in the centre and 30m wide at the bottom. Find the herght of the arch 6m

log (1+x) S AL ‘ " " Caw i
A 1+ x? :
a)Using second denvatlve test t' nd the Iocal maximum and Iocal minimum values of

2x3-3x*~-12x + 13. (OR) 5
b) Find the parametric vector equation and cartesian equation of the plane passmg through the pornt {6 1. 3) ahd
perpendicular to the planes X+y—-2z=8andx-2y+ 7z=9 -
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